UC Davis Applied Math Bretim Solutions "Back of the Naphin" style Compiled 9/13/2016 by David Haley If you find a mistake, please send the correct solution to the author.

F 013 # 1 h"+ k2h=0 k= k(x)= k, + (k2-k1) tanh (*) OKk, KAZ X = * K(x) = k(x) H(x) = h(x) 12H" + 22H = 0 H = exp(Lustu,) 1 [(Lu,"+u,")+(Lu,")2]+ x2=0 O(1): (uo')2+x2=0 uo'. tix u = (+ i \ x(t) dt

D(E): " + Zuo'n, '= 0 (tousport) + ix' + 2 ix u, '= 0 x' + 2 xu, '= 0 4, 1= - = 7 u, = D - 2 ln x H = exp(CL = iL) x(+)dt + D- = lnx) = 1 exp(CL+D ± il) R(T)dT h(x) = 1 exp(CL+D = i) k(t)dt) = Trapexp(CL+D) exp(±i shlt)dt) In part (c), we are given in to conclude that $(k_2-k_1)\approx 0$ and $k_1 \approx 1$ are strong in $k_2 \approx 1$ and $k_3 \approx 1$ are strong in $k_4 \approx 1$. $h(x) = A \exp(ik_i x)$

F'013 #2 Ey"+ \x y + y = 0 Y(0) = 0, Y(1)= 1 INNER SOLUTION Let x = EX, Y(X) = y(x) 1-2xy" + E-12x X Y'+ Y=0, Y(0)=0 $|-2x = -\frac{1}{2}x$ $|-2x = -\frac{1}{2}x$ $|-2x = -\frac{1}{3}y'' + e^{-\frac{1}{3}}\sqrt{x}y' + y = 0$ $|-2x = -\frac{1}{2}x$ $|-2x = -\frac{1}{2}x$ Y"+ \XY'+ & 13Y=0 $0(1): \quad Y'' + \sqrt{X}Y' = 0$ $\frac{Y''}{Y'} = -\sqrt{X}$ $\frac{Y'}{Y'} = -\frac{2}{3}X^{3} + C$ $Y' = -\frac{2}{3}X$

OVTER SOLUTION 1xy'+ y=0 y(1)=1 ギョー長 MATCH $y(x) + Y\left(\frac{x}{e^{t/3}}\right) - e^{2}$ $x + \infty$ $C = \frac{e^{2}}{e^{-\frac{1}{3}t^{2}}}dt = e^{2}$ $C = \frac{e^{2}}{e^{-\frac{1}{3}t^{2}}}dt$ $\frac{1}{2} = \frac{1}{2} = \frac{1}{$ solution contributed by Guga Mikaberidze (Mar 2020)

$$\frac{T''}{T} = \frac{\alpha^2 R''}{R} + \frac{\alpha^2 R}{R}$$

$$R'' + \frac{1}{r}R' + \frac{\lambda^2}{\alpha^2}R = 0$$

$$\frac{1}{P}(PR')' = \frac{PR''}{P} + \frac{P'R'}{P}$$

$$P = \Gamma$$

$$\frac{1}{L}(Lb_i)_i + \left(\frac{2}{3}\right)_5 b = 0$$

$$\frac{1}{r} \left(L B_i \right)_i + \left(\frac{\sigma}{3} \right)_5 B = 0$$

$$\frac{1}{x}(xJ_n')' + \left(1 - \frac{x^2}{x^2}\right)J_n = 0$$
 Bessel

$$\frac{1}{x}(xJ_{0}')'+J_{0}=0$$

$$R(r_0) = 0 = J_0(\frac{\lambda r_0}{a})$$

$$\frac{\gamma_i c_0}{a} = x_i$$

$$\frac{\lambda_{i} c_{o}}{\alpha} = \chi_{i}$$

$$\frac{\lambda_{i} = \frac{\alpha \chi_{i}}{r_{o}}}{\lambda_{i} = \frac{\alpha \chi_{i}}{r_{o}}}$$

$$R_{i}(r) = J_{o}\left(\frac{\chi_{i}r}{\sigma_{o}}\right) = J_{o}\left(\frac{\chi_{i}r}{r_{o}}\right) = R_{i}(r)$$

$$f'' + \lambda f = 0$$

$$claim: 3>0$$

$$\frac{\int_{0}^{\infty} f(f')^{2} dx}{\int_{0}^{\infty} f(f')^{2} dx} = \frac{\int_{0}^{\infty} f(f')^{2} dx}{\int_{0}^{\infty} f(f')^{2} dx} = \frac{\int$$

whom let
$$\lambda = \frac{\pi^2 n^2}{4L^2}$$
, $n \in \mathbb{R}$.

$$f'' + \frac{\pi^2 n^2}{4L^2} = 0$$

solved by $f(x) = a \cos \frac{\pi n}{2L} \times + b \sin \frac{\pi n}{2L} \times$

$$0 = f(L) = a \cos \frac{\pi n}{2L} + b \sin \frac{\pi n}{2L} \times + b \sin \frac{\pi n}{2L} \times + b \sin \frac{\pi n}{2L} \times + \frac{\pi n b}{2L} \cos \frac{\pi n b}{2L} \times + \frac{\pi n b}$$

aggroximate
$$\ell^2-\chi^2$$
 with $\frac{2}{2}\ell^3 = \frac{2}{2}\sqrt{\frac{2}{2}} (05) \frac{\pi(2k-1)}{2k}\chi^3$

project:
$$g \mapsto \sum_{k=1}^{\infty} \langle Q_k, g \rangle Q_k$$
. Let $\chi := \frac{\pi(2k-1)}{2k}$

$$\langle \varphi_{\kappa,g} \rangle = \sqrt{\frac{2}{\lambda}} (\ell^2 - \chi^2) \cos \kappa dx$$

$$= \sqrt{\frac{2}{k}} \left[-\frac{x^{2}}{k} \sin kx - \frac{2x}{k^{2}} \cos kx + \frac{2}{k^{3}} \sin kx \right]_{0}^{k}$$

$$= \sqrt{\frac{2}{k}} \left[-\frac{x^{2}}{k} (-1)^{k+1} + \frac{2}{k^{3}} (-1)^{k+1} + \frac{2x}{k^{2}} \right]_{0}^{k+1}$$

(put these pieces together for answer)

```
F'013 # 5 Page 1
x = ax+y-xf(x2+y2) a ER, fe(0, f(0)=0, f(1) 2 m
 = -x + ay -yf(x2+y2)
2xx+2yy= 2ax2+2xy-x2f(x2+y2)-2xy+2ay2-y2f(x2+y2)
        = 2a(x2+y2) - (x2+y2) f(x2+y2) = (x2+y2)[2a-f(x2+y2)]
fixed points!
      2x(0)+2y(0) = (x2+y2)[2a-f(x2+y2)]
     x2+y2=0 or f(x2+y2)=22
                       would imply 50- x = ax+y-lax = y-ax
      (0,0)
                               10= = -x+ay-2ay = -x-ay
                        1. y=ax and x=-ay
                             y = -ay
                        1. y=0,x=0
: only fixed pt : (0,0)
Linear stability: J(xx)= [a-f(x2+y2)-2x2f'(x2y2) 1-2xyf(x2+y2)
assure fect
                -1-2xyf(x2+y2) a-f(x2+y2)-2y2f(x2+y2)
             J(0,0) = \begin{bmatrix} a & 1 \\ -1 & a \end{bmatrix}
                n=ati
                 unstable spiral for a >0
```

F'013 #5 Page 2

We have that (0,0) is the only fixed pt and it is a spirilsonne Fera 20. Now recall 2xx+2yy=(x2+y2)[2a-f(2+y2)]

=> d[x++2] = (x2++2)[2a-f(x2+42)]

Consider the dispersion bdd by x2+y2 = 9a2 with the neighborhood of (0,0) On the outer bdy of this region,

df x2+42] = (x2+42)[2a-f(x2+42)]

 $= 9a^{2}[2a - f(9a^{2})]$ < 902[2a-3a].

= - 903

< 0. . all trajectories flow inund

On the inner bdy of this region, all trajectores from hund (spin/source at (0,0)) There are no fixed pts inside the region.

". By P-B a limit cycle must exist.

Special case: f(a)=uta. 0= d[x+42] = (x2+42)[2a-f(x2+42)]

> 0=x2+y2 or 0=2a-f(x2+y2) 2a= f(x2+y2) 2a= (x2+y2) 14a2= x2+y2) not in region

$$F'013 \#6$$

$$\frac{d^{2}r}{d\theta^{2}} + r = \frac{1}{L} + \ell L r^{2}$$

$$\frac{ds}{d\theta} = -r + \frac{1}{L} + \ell L r^{2}$$

$$\frac{ds}{d\theta} = -r + \frac{1}{L} + \ell L r^{2}$$

$$\frac{ds}{d\theta} = -r + \frac{1}{L} + \ell L r^{2}$$

$$\frac{\ell L r^{2} - r + \frac{1}{L} = 0}{\ell L r^{2} - r + \frac{1}{L} = 0}$$

$$r = \frac{1 \pm \sqrt{1 - 4\ell}}{2\ell L r} = 0$$

$$\frac{dr}{d\theta} = \frac{1}{\sqrt{1 - 4\ell}}$$

$$\frac{ds}{d\theta} = -r + \frac{1}{L} + \ell L r^{2}$$

$$\frac{\ell L r^{2} - r + \frac{1}{L} = 0}{\ell L r^{2} - r + \frac{1}{L} = 0}$$

$$r = \frac{1 \pm \sqrt{1 - 4\ell}}{2\ell L r} = 0$$

$$\frac{ds}{d\theta} = -r + \frac{1}{L} + \ell L r^{2}$$

$$\frac{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}}{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}}$$

$$\frac{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}}{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}}$$

$$\frac{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}}{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}}$$

$$\frac{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}}{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}}$$

$$\frac{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}}{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}}$$

$$\frac{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}}{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}}$$

$$\frac{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}}{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}}$$

$$\frac{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}}{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}}$$

$$\frac{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}}{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}}$$

$$\frac{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}}{\ell L r^{2} - r + \frac{1}{L} + \ell L r^{2}$$

$$\frac{\ell L r^{2} - r + \ell L r^{2} - \ell L r^{2} - \ell L r^{$$